log (R_ext)

gos velocity [km/s]

J [mag] K [mag]

V [magq]

condensation degree

-10

N e L
ALROINN. 73\ XN/ /v\ A DI LB LAY
75 - ' 7

V, J, K [mag]

N
(=}

-20

-40

o

e 9 o
> o ®

e o
o N

o
H\‘\H‘\H‘H\‘\H \H‘\H‘\H‘H\ I

|
~
~

| | |
N ~ N
-~ w (o2

|
~
[

[
o N
(SN

-6.2

—6.1

—6.0

-59

-2.6

-2.5

-2.4

-2.3

-2.2

5200 5./0

0./5

3.00

OEBDD GOGPORD © R GO GO

4.0

e b v e e e b e e b b e b
V-

o by by e b e e 2 P

0.0 0.2 0.4 0.6 0.8 1.0
phose ¢y,

0.5

1.0 1.5

2.0 2.5

I
o
&)

N
o
N
o

ALLAARILAAILRA MR
BRI AR

,\M\I\'\

et
ﬂ

E m b
E ° & 035 ‘
E Y oa

E o, '

E '

E ‘o h h

E o .

E s

E P el

E o . o

E ‘g oo

g L F L om

o

I .
‘o . .
oo
o
o .
o,
o

1.5x10"

100

150
time [yr]

2.5x10"

2.0x10"

1.0x10%

5.0x10'2

\

c R |
‘ P9 Y042 ‘
E R

3 22042

E o

E o .

E o,

E oo

E o .

E . R

E o

E ¢ o '

E C %0,

E I

E ‘o ' o

E | L%

239 241

time [yr]

250

251

3 E E
=3 E ]
> E E
T OF E
8 E E
E E E
5 —10F =
o - 3
0B . ‘ ‘ ‘ ‘ ‘ =
10F | | : : : : —
o 081 —
8 L ]
e L ]
it [ ]
© 06 -
c L ]
o [ ]
3 [ ]
2 041 -
5 L ]
3 [ ]
2
N [ ]
S ook ]
0.0 . s — ‘ ‘ ‘ ; -

N
N
o

N
N
N

244

246
time [yr]

248

250

252

Test

lg L
Mass
1g(C-0)
C/0
Aup

f

class

No wind

Period
Radius

log g
AMbo\

Colour mean

-V) 1.93
2.18
4.95
0.87
1.36
0.49

294. d
235. Rg
—0.43
0.236

N
o
o

3200 K
3.70 Ly
0.75 Mg
8.50
1.69

2 km/s
1.0

PP

= 0.806 yr

/ min / max / range
1.90 1.96 0.06
2.16  2.20 0.05
4.92 5.01 0.09
0.86 0.90 0.04

1.38 0.04

1.34
0.47 0.50 0.03



Note: Time increases downwards. Scales OK for last curve (bottom black)
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